

$$\sum_{n=0}^{\infty} \frac{3}{5^n} = \left| \begin{array}{l} q = \frac{1}{5} < 1 \\ a_0 = 3 \end{array} \right| = \frac{3}{1 - \frac{1}{5}} = \underline{\underline{\frac{15}{4}}}$$

---

$$\sum_{n=1}^{\infty} \frac{n}{2^n} = \dots = 2$$

$$\ln x + \ln \sqrt{x} + \ln \sqrt[3]{x} + \dots = 2, \quad x = ?$$

$$\ln x + \frac{1}{2} \ln x + \frac{1}{3} \ln x + \dots = 2$$

$$\ln x \cdot \left( 1 + \frac{1}{2} + \frac{1}{3} + \dots \right) = 2$$

$$\sum_{m=1}^{\infty} \left( \frac{1}{2} \right)^m = \frac{\frac{1}{2}}{1 - \frac{1}{2}} = 1 + 1 = 2$$

$$2 \cdot \ln x = 2, \quad \ln x = 1, \quad x = e$$

$$\sum_{n=1}^{\infty} (\sqrt{n} - 2\sqrt{n+1} + \sqrt{n+2}) = \dots = 1 - \sqrt{2}$$

---

.

$$\sum_{n=1}^{\infty} \frac{2^n \cdot n!}{n^n}$$

$$\frac{a_{n+1}}{a_n} = \frac{\frac{2^{n+1} \cdot (n+1)!}{(n+1)^{n+1}}}{\frac{2^n \cdot n!}{n^n}} = \frac{\cancel{2} \cdot \cancel{2} \cdot \cancel{(n+1)} \cdot \cancel{n!} \cdot n^n}{\cancel{2} \cdot \cancel{n!} \cdot \cancel{(n+1)}^{n+1}} =$$

$$= 2 \cdot \underbrace{\left(\frac{n}{n+1}\right)^n}_{n \rightarrow \infty} \rightarrow 2 \cdot \frac{1}{e} = \frac{2}{e} < 1$$

$$\left(\frac{n+1}{n}\right)^{-n} = \left[ \left(1 + \frac{1}{n}\right)^n \right]^{-1}$$

Konv.

$$\sum_1^{\infty} \left( \arccos \frac{1}{n} \right)^{n^2}$$

$$\sqrt[n]{a_n} = \left( \arccos \frac{1}{n} \right)^n \xrightarrow{n \rightarrow \infty} \left( \arccos 0 \right)^{\infty} =$$

$$= \left( \frac{\pi}{2} \right)^{\infty} = \infty > 1$$

Div.

$$\sum_1^{\infty} ar_1^n$$

$$\sqrt[n]{a_n} = ar_1^{\frac{1}{n}} \xrightarrow{n \rightarrow \infty} ar_1^0 = 0 < 1$$

Konv.

$$\sum_{n=1}^{\infty} \frac{(-2)^n}{[5+(-1)^{n+1}]^n}$$

ABS. K

$$\sum_{n=1}^{\infty} \frac{2^n}{[5+(-1)^{n+1}]^n}$$

K.A.S.

$$\leq \sum_{n=1}^{\infty} \frac{2^n}{4^n} = \sum_{n=1}^{\infty} \frac{1}{2^n} = 1$$

$$\sum_{n=1}^{\infty} \frac{2^n}{n^2} x^n, \quad x_0 = 0, \quad a_n = \frac{2^n}{n^2}$$

$$\lim_{n \rightarrow \infty} \left| \frac{a_{n+1}}{a_n} \right| = \lim_{n \rightarrow \infty} \frac{2^{n+1} \cdot n^2}{(n+1)^2 \cdot 2^n} = \lim_{n \rightarrow \infty} \frac{2n^2}{(n+1)^2} = \frac{2}{1} = \underline{\underline{2}}$$

$$\Rightarrow R = \frac{1}{2} \Rightarrow x \in \left(-\frac{1}{2}, \frac{1}{2}\right)$$

$$x = -\frac{1}{2} \Rightarrow \sum_{n=1}^{\infty} \frac{2^n}{n^2} \cdot \left(-\frac{1}{2}\right)^n = \sum_{n=1}^{\infty} \frac{(-1)^n}{n^2} \quad \text{KONL.}$$

$$x = \frac{1}{2} \Rightarrow \sum_{n=1}^{\infty} \frac{2^n}{n^2} \cdot \left(\frac{1}{2}\right)^n = \sum_{n=1}^{\infty} \frac{1}{n^2} \quad \text{KONL.}$$

$$\Rightarrow I = \left[-\frac{1}{2}, \frac{1}{2}\right] \dots \text{ABS. KONV.}$$



$$\sum_1^{\infty} \frac{(-1)^n \cdot (x+2)^n}{n + \sqrt{n}}, \quad x_0 = -2, \quad \underline{a_n = \frac{(-1)^n}{n + \sqrt{n}}}$$

$$\left| \frac{a_{n+1}}{a_n} \right| = \frac{\frac{1}{n+1 + \sqrt{n+1}}}{\frac{1}{n + \sqrt{n}}} = \frac{n + \sqrt{n}}{n+1 + \sqrt{n+1}} \xrightarrow{n \rightarrow \infty} \frac{1}{1} = \textcircled{1}$$

$$\Rightarrow R = \textcircled{1} = 1 \quad \Rightarrow \quad \underline{\tilde{I} = (-3, -1)}$$

---


$$\cancel{x = -3} \Rightarrow \sum_1^{\infty} \frac{\cancel{(-1)^n} \cdot \cancel{(1)^n}}{n + \sqrt{n}} = \sum_1^{\infty} \frac{1}{n + \sqrt{n}} \approx \sum_1^{\infty} \frac{1}{n + n} = \sum_1^{\infty} \frac{1}{2n} = \frac{1}{2} \cdot \sum_1^{\infty} \frac{1}{n} = \infty$$

$$x = -1 \Rightarrow \sum_1^{\infty} \frac{(-1)^n \cdot 1^n}{n \sqrt{n}} = \sum_1^{\infty} \frac{(-1)^n}{n \sqrt{n}} \quad \text{ALT. } \bar{z}.$$

$$\frac{1}{n \sqrt{n}} \rightarrow 0$$

LEID. KR. KOKU.

KOKU.  $x \in (-3, -1]$

( ABS.K.  $x \in (-3, -1)$ , REL.K.  $x = -1$  )

$$\sum_{n=1}^{\infty} \alpha^{n^2} \cdot x^n, \quad 0 < \alpha < 1 \Rightarrow x_0 = 0$$
$$a_n = \alpha^{n^2}$$
$$\lim_{n \rightarrow \infty} \sqrt[n]{|\alpha^{n^2}|} = \lim_{n \rightarrow \infty} \alpha^n = 0 \Rightarrow \underline{\underline{R = \infty}}$$

$\Rightarrow$  (ABS.) konv.  $x \in \mathbb{R}$

$$\sum \frac{n!}{\beta^{n^2}} \cdot x^n, \quad \beta > 1$$

$$a_n = \frac{n!}{\beta^{n^2}}, \quad x_0 = 0$$

$$\lim_{n \rightarrow \infty} \left| \frac{a_{n+1}}{a_n} \right| = \lim_{n \rightarrow \infty} \frac{(n+1)! \cdot \beta^{n^2}}{\beta^{(n+1)^2} \cdot n!} = \lim_{n \rightarrow \infty} \frac{n+1}{\beta^{2n+1}} = 0$$

$$\Rightarrow R = \infty, \quad I = \mathbb{R}$$

$$\begin{aligned} n^2 - (n+1)^2 &= n^2 - n^2 - 2n - 1 = \\ &= -(2n+1) \end{aligned}$$

$$\sum_{n=1}^{\infty} \frac{x^{4n-3}}{4n-3}, \quad x=0, \quad R=1$$

$$\left( \sum_{n=1}^{\infty} \frac{x^{4n-3}}{4n-3} \right)' = \sum_{n=1}^{\infty} \frac{\cancel{4n-3} \cdot x^{4n-4}}{\cancel{4n-3}} = \sum_{n=1}^{\infty} x^{4(n-1)} =$$

$$= \left| \begin{array}{l} m=n-1 \end{array} \right| = \sum_{m=0}^{\infty} x^{4m} = \sum_{m=0}^{\infty} (x^4)^m = \left| \begin{array}{l} a_0=1 \\ q=x^4 \end{array} \right| = \frac{1}{1-x^4}$$

$$\int \frac{1}{1-x^4} dx = \int \frac{\frac{1}{2}}{1+x^2} + \frac{\frac{1}{4}}{1-x} + \frac{\frac{1}{4}}{1+x} dx = \frac{1}{2} \arctan x + \frac{1}{4} \ln \left( \frac{1+x}{1-x} \right) + C$$

$$x = x_0 = 0$$

$$\sum 0 = 0 \stackrel{\downarrow}{=} \underbrace{\frac{1}{2} \arctan 0}_0 + \underbrace{\frac{1}{4} \ln(1)}_0 + C$$

$$\Rightarrow C = 0$$


---

$$\sum_{n=1}^{\infty} \frac{x^{4n-3}}{4n-3} = \frac{1}{2} \arctan x + \frac{1}{4} \ln \frac{1+x}{1-x}$$

$x \in (-1, 1)$

$$\sum_{n=3}^{\infty} \frac{x^n}{n \cdot 5^n}, \quad x_0 = 0, \quad \frac{1}{R} = \lim_{n \rightarrow \infty} \left| \frac{a_{n+1}}{a_n} \right| = \lim_{n \rightarrow \infty} \frac{n \cdot 5^n}{(n+1) \cdot 5^{n+1}} =$$

$$\lim_{n \rightarrow \infty} \frac{n}{5(n+1)} = \frac{1}{5} \Rightarrow R = 5$$

$$x = -5 \Rightarrow \sum \frac{(-5)^n}{n \cdot 5^n} = \sum \frac{(-1)^n}{n} \quad (K) \quad (n \in \mathbb{N})$$

$$x = 5 \Rightarrow \sum \frac{5^n}{n \cdot 5^n} = \sum \frac{1}{n} \quad (D) \quad I = [-5, 5)$$

$$\left( \sum_{n=3}^{\infty} \frac{x^n}{n \cdot 5^n} \right) = \sum_{n=3}^{\infty} \frac{x^{n-1}}{5^n} = \sum_{n=3}^{\infty} \frac{x^{n-1}}{5^n} = \frac{1}{5} \cdot \sum_{n=3}^{\infty} \left( \frac{x}{5} \right)^{n-1} =$$

$$= \left| \begin{array}{l} a_1 = \frac{x}{5} \\ a_2 = \frac{x^2}{25} \end{array} \right| = \frac{1}{5} \cdot \frac{\frac{x^2}{25}}{1 - \frac{x}{5}} = \frac{1}{5} \cdot \frac{\frac{x^2}{25}}{\frac{5-x}{5}} =$$

$$= \frac{1}{5} \cdot \frac{\cancel{5} x^2}{25 \cdot (5-x)} = \underline{\underline{\frac{x^2}{25 \cdot (5-x)}}}$$



$$\sum_3^{\infty} \frac{x^n}{n \cdot 5^n} = \frac{1}{25} \cdot \int \frac{x^2}{5-x} dx = \left| x^2 : (5-x) = \dots \right| =$$

$$= \frac{1}{25} \cdot \int -x-5 + \frac{25}{5-x} dx = \frac{1}{25} \cdot \left( -\frac{x^2}{2} - 5x + 25 \cdot (-\ln(5-x)) \right) + C$$

---


$$x=0 \Rightarrow \sum 0 = 0 \stackrel{\downarrow}{=} \frac{1}{25} \cdot (0+0-25 \cdot \ln 5) + C$$

$$0 = -\ln 5 + C \Rightarrow C = \ln 5$$

$$\sum_3^{\infty} \frac{x^n}{n \cdot 5^n} = \frac{-x^2}{50} - \frac{x}{5} - \ln|5-x| + \ln 5 =$$

$$= \ln \frac{5}{5-x} - \frac{x^2}{50} - \frac{x}{5}, \quad x \in [-5, 5)$$

$$x = -5 \Rightarrow \sum_3^{\infty} \frac{(-1)^n}{n} = \ln \frac{5}{10} - \frac{25}{50} + \frac{5}{5} = \ln \frac{1}{2} - \frac{1}{2} + 1 =$$

$$= \ln \frac{1}{2} + \frac{1}{2} =$$

$$= \frac{1}{2} - \ln 2$$

$$\sum_{n=1}^{\infty} \frac{(-1)^n}{n} = \underbrace{-1 + \frac{1}{2}}_{=0} + \frac{1}{2} - \ln 2 = \underline{\underline{-\ln 2}}$$

$$\sum_{n=1}^{\infty} \frac{(n-1) \cdot (e-1)^n}{n \cdot e^n + e^n} = \sum_{n=1}^{\infty} \underbrace{\frac{n-1}{n+1}}_{a_n} \cdot \underbrace{\left(\frac{e-1}{e}\right)^n}_x = \sum_{n=1}^{\infty} \frac{n-1}{n+1} \cdot x^n$$

$$X_0 = 0, R = 1 \Rightarrow I = (-1, 1) \Rightarrow \frac{e-1}{e}$$

$$x = \frac{e-1}{e}$$

$$\sum_{n=0}^{\infty} x^n = \frac{1}{1-x} \quad / \int dx$$

$$x=0 \Rightarrow$$

$$0 = -\ln 1 + C$$

$$\sum_{n=0}^{\infty} \frac{x^{n+1}}{n+1} = \int \frac{1}{1-x} dx = -\ln|1-x| + C$$

$$C=0$$

$$\sum_{n=0}^{\infty} \frac{x^{n+1}}{n+1} = -\ln(1-x) \quad / \cdot \frac{1}{x^2}$$

$$\sum_{n=0}^{\infty} \frac{x^{n+1}}{n+1} = \frac{-\ln(1-x)}{x^2} \quad / \frac{d}{dx}$$

$$\sum_{n=0}^{\infty} \frac{(n+1) \cdot x^{n+2}}{n+1} = \frac{1}{x^2(1-x)} + \frac{2 \cdot \ln(1-x)}{x^3} \quad / \cdot x^2$$

$$\sum_{n=0}^{\infty} \frac{n-1}{n+1} \cdot x^n = \frac{1}{1-x} + \frac{2}{x} \cdot \ln(1-x)$$

$$\sum_{n=1}^{\infty} \frac{n-1}{n+1} x^n = \frac{1}{1-x} + \frac{2}{x} \cdot \ln(1-x) - (-1) \quad x = \frac{e-1}{e}$$

$$\Rightarrow \sum_{n=1}^{\infty} \frac{n-1}{n+1} \cdot \left(\frac{e-1}{e}\right)^n = \frac{1}{1 - \frac{e-1}{e}} + \frac{2e}{e-1} \cdot \ln\left(1 - \frac{e-1}{e}\right) + 1 =$$

$$= e - \frac{2e}{e-1} + 1$$